E X TR X FEHEE
SH4E 418 HD
SH54 3A31A £T

(BAFH)
B XEEFE MEETH = B
FHEEREMGE 1,044,611 1,070,697 A 26,086
FHcH 20,464 25,929 A 5,465
HitE 90,605 87,130 3,475
BEREEHDSE 714,205 719,731 A 5526
i EEHE 111,173 122,984 A 11811
#H|=| BHEHE 480,329 471,819 8,510
?'22 o | sanzuEmne 61,680 61,632 48
B o | BERBYS 31,962 36,258 A 4,296
gg | # | BmLmwEsE 680 680 0
E2 REHBAERA 28,381 26,359 2,022
fREEEIA 7,054 7,552 A 498
HURA 133,158 20,883 112,275
HEIFRIRART 2,010,097 1,931,922 78,175
% | B XEEFEH MEETH = B
& | AMEE 1,232,937 1,103,178 129,759
= | BEMRRE 737,966 716,379 21,587
» | SERE 363,488 354,553 8,935
% | BUINTREEES 0 0 0
it 0
o 0
| BEEBIME 2,334,391 2,174,110 160,281
BEEHINET ELE A 324,294 A 242,188 A 82,106
= |8 B XEEFEHE MEETH = =
?; SHAS-REd 50,112 50,112 0
# | u | TOMDEEFESIRA 0
= g
| [ mEEwsm At 50,112 50,112 0
Bl [® B X EEFE MEETH = =2
5t x EASEFE 0 0 0
g 5 | ZDMOBEFEHINZH 0 0 0
*x
Y mEERN 0 0 0
BEEINIRTEEE 50,112 50,112 0
BERTELE A 274,182 A 192,076 A 82,106
= |8 B X EEFH MEEFE = =
i BESTAIESR 11,006 100 10,906
w | CDMDERIIRA 18,102 18,080 22
LS I
A | [EBRAG 29,108 18,180 10,928
;| |8 B X EEFH MEEFE = =
b2 § BENLDELE 0 0 0
B | TOMOERIZH 0 0 0
*
Y RRIEmE 0 0 0
HRlRX =48 29,108 18,180 10,928
[FiEE] A 50,000,000 A 50,000,000 0
EASHARSEEIRZELR A 295,074 A 223,896 A 71,178
EAEHAES A 106,887 A 88,382 A 18,505
LEEIRKELS A 401,961 A 312,278 A 89,683
BIFEERBINEEEE A 4,351,181 A 4,038,904 A 312,277
HEASIAREE 0 0 0
BEERBINTESR A 4,753,142 A 4,351,182 A 401,960
(8%)
BEFFIAG 2,089,317 2,000,214 89,103
BEFEIHE 2,384,390 2,224.110 160,280




